
𝒅𝑽   =     𝝅𝒓𝟐𝒅𝒚     =      𝝅𝒙𝟐𝒅𝒚     =       𝝅� 𝟐
𝒚+𝟏

�
𝟐
𝒅𝒚    =     −𝟒𝝅 −𝟏

(𝒚+𝟏)𝟐
𝒅𝒚 

𝑽 =  �𝒅𝑽
𝒃

𝒂

 =  −𝟒𝝅�
−𝟏

(𝒚 + 𝟏)𝟐 𝒅𝒚
𝟑

𝟎

 =   −𝟒𝝅 �
𝟏

𝒚 + 𝟏 �
𝟑
𝟎
��   =   −𝟒𝝅 �

𝟏
𝟒 − 𝟏�  =   𝟑𝝅 𝑪𝒖𝒃𝒆 

 

�𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙 = ?    →    � 𝒖 = 𝒆𝒙               =>     𝒅𝒖 = 𝒆𝒙𝒅𝒙
𝒅𝒗 = 𝒔𝒊𝒏𝒙𝒅𝒙  =>     𝒗 = −𝒄𝒐𝒔 𝒙

� 

�𝒖𝒅𝒗  =   𝒖𝒗 −�𝒗𝒅𝒖 

�𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙   =    −𝒆𝒙 𝒄𝒐𝒔 𝒙 + �𝒆𝒙 𝒄𝒐𝒔 𝒙𝒅𝒙 

 

�𝒆𝒙 𝒄𝒐𝒔 𝒙𝒅𝒙 →    �𝒖 = 𝒆𝒙               =>     𝒅𝒖 = 𝒆𝒙𝒅𝒙
𝒅𝒗 = 𝒄𝒐𝒔 𝒙𝒅𝒙  =>     𝒗 = 𝒔𝒊𝒏 𝒙

� 

�𝒆𝒙 𝒄𝒐𝒔 𝒙𝒅𝒙   =    𝒆𝒙 𝒔𝒊𝒏 𝒙 − �𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙 

 

�𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙   =    −𝒆𝒙 𝒄𝒐𝒔 𝒙  +  𝒆𝒙 𝒔𝒊𝒏 𝒙 − �𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙 

𝟐�𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙   =    −𝒆𝒙 𝒄𝒐𝒔 𝒙 + 𝒆𝒙 𝒔𝒊𝒏 𝒙 

�𝒆𝒙 𝒔𝒊𝒏 𝒙𝒅𝒙     =      
𝒆𝒙 𝒔𝒊𝒏 𝒙 − 𝒆𝒙 𝒄𝒐𝒔 𝒙

𝟐
    =      

𝒆𝒙(𝒔𝒊𝒏 𝒙 − 𝒄𝒐𝒔𝒙)
𝟐

 

𝒓 
𝒅𝒚 (𝒙,𝒚) 

𝟑 

𝟎 

 
 :פיתרון בדיסקות


